(Test No. 102)
Test Name : PHYSICAL SCIENCES '

Time : 90 minuteés Maximum : 100 marks

Answer ALL guestions.

Each question earries ONE mark.
The equivalent quantum mechanical operator for the velocity (v)
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The uncertainty in position of an slectron is 2x107"m than the uncertainty
in momentum is
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De-Broglie equation for the wavelength is
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The photon energy of ground state and absorbed state respectively for
Hydrogen atom.
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6. I R=1097%«10"m", than find the limit of Balmer series of Hydrogen
R = 1097 x107m™ eond 1pS'es @ug), emo8 165 ogd Jos?
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T The 4 of H, line 1 4861 A® than Hydberg constant is
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8. m &n, values for the fund series to find spectrum position in infra-red region,
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8. Units of the Stefan's constant
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10. Find the example for linear asymmetric molecule.
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11. Total no of electrons consist by shell * M*
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